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Example 21.3. Perform the operation.
a) (2 —3i) + (=6 + 44)

b) (3+5%) - (=7+1)
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Example 21.8. Convert the number from polar form into the standard

forma L+ bi Lt
a) 3 - (cos (117°) + isin (117°)) a t+e
b) 4. ( (f) +7‘,sin(5f))
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Proposition 21.9. Let'r; (cos (01) + 4sin (1)) and
19 (cos (02) + isin (62) )be two complex numbers in polar form.
Then, the product and quotient of these are given by

71 (cos (01) + isin (61))-r2 (cos (f2) + isin (62)) = rire-(cos (61 + 62) + isin (61 + 62))

% = L. (cos (0 — O2) + isin (01 — 62))

Example 21.10. Multiply or divide the complex numbers, and write

your answer in polar and standard form.

a) 5 (cos (11°) + isin (11°)) - 8 (cos (34°) + isin (34°)) .

b) 3 (cos ("r) + isin (%C)) 12 (cos ( T) + isin (th)) \A ((059 oK S~h6)
) sz(cos( )+mn( 1))

(‘o%(?()& )+1ﬁm(203 )
(cos(74°)+isin(74°))

d)
e) INTUITIVE BONUS: Without doing any calculation or conversion,

describe where in the complex plane to find the number obtained by
multiplying (5 + 2¢)(—1 + 61).
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